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Paper / Subject Code: 86001 / O{ieration4Research '

Time: 2 %2 Hours o Marks: 75
Note : 1. All questions are compulsory. ( Subject to internal Choice )

2. Figures to the right indicate full marks.

3. Use non--programmable calculator is allowed > 4

4. The normal distribution table is printed on the last page forreference.

5. Support your answers with diagrams/illustrations, wherever necessary.

6. Graph papers will be-supplied on request. . 3 N

Q1 (A) Multiple choice questions (Attempt Any.8) =1 < Faxll ) s

1. A BFS of a LPP is said to be ~=-----—------<~ if at least-one of the basic variables is zero
a) Degenera}tefdf b) Non-degenerated c) Infeasible  d) Feasible ;

2. For solving aﬁv_va‘ssignmentproblem, which method is used?. ™

a) Hungarian b) American .~ c) German  d) Italian ‘
3. A feasible.solution is.called a basic feasible solutioh if the number of non-negative
allocations is equab o ---------2--- e 'y : N
a) m=n+1 4+ b) m+n-1- c) m-n-1 ~.d) m+n+1
4. Which method is an iterative procedure for solving LPP in a finite number of steps-
-a) Simplex algorithm ~b) Simplex method ¢) slack method d) M-method

5 .}i’b:An objcct‘i‘ve function is maximized when it 1S @ --------=-- function,

“ ' a) Profit  b) passive c) cost d) time:

6. In an"»a§signment‘problem involving 5 workers & 5'jobs, the total number of assignments
possible is ——-gX -, A ’ ‘
)15 B0 )5 92 : P2 o \

7. is known as thie time by which activity completion time canbe delayed without

" affecting the start of §iicceeding’_éctivities, ; " :
: a) Total float - b) interfering float ‘c) independent float -d) Free float
~ 8. The probability of a normal curve is <~ Fad Nopd :
Da) 60% b) 70% ¢) 50% —d) 55% oL N :
9. ~What is thg:,pfobabili‘,tty of project completing in 55 days if the expected project completion
time is 47.days & table value is i(+0.4890) . '
- a) 98.90% b)99% c) 90% d)98% .~ O (
10. What is the total idle time if jobs are processed on 2 1 achines and idle time on machine A
is I'1-and on machine B is°15. oy .
a)25  b)26 ¢)23 -d)24

Q1 (]i) True or false (Atfempt Any )~ , , (7)

i Is concerned with using scientific approach i.e. logical reasoning to solve problems for the
management by ensuring optimum utilization of resources -
ii.  Any change irvthe constraint inequalities will have a proportional change in the objective
function .5 ° &Y Lo ' ”
iii. < In graphical method,f‘*i'lhfeasibility‘ happens we cannot find feasible region,
iv.-  Graphical method-can be used When the number of decision variable at two

V. An artificial variable is a fictitious variable in LPP problems:
.vi.  Surplus variables represent.an excess amount of resources utilize
vii. ~ When the mimber of lines is not equal to size of matrix the solution is optimum.
viil. - There aretwo types of techniques available to find the initial basic feasible solution.
ix, - The network can have one or more start node and end node.
X:©  Pessimistic time is the shortesttime period expected to complete the activity.
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Paper / Subject Code: 86001 / Operation_ Research

Q.2 A) A Company manufactures two products: A and B. Te manufacture one unit of A, 1.5 machine
hours and 2.5 labour hours are required. To manufacture product B, 2.5 machine hours and 1.5
labour hours are required. In a month; 300 machjhe hours and 240 labour hours are available.

Profit per unit, for A is Rs. 50 a_nd'{‘for B is Rs. 40. o O
Formulate as LPP e ad &7 P 8).

Q-2 B) Solve following LPP by Simplex method . o )
Maximize Z= 50 x; + 20 x5 e AN -

Subject to Constraints
'2Ox1+10X2:,<_ 500
7 50x; + 50%, < 300
X1, X0 0 B
; “OR s . \
Q.2 C) Solve following LPP by Graphical method. . @)
Maximize Z= 2x; + 10%; v < y
~Subject to Constraints -
> 2x+5x5< 16
6x; <30
- X ;«:Xz >0 : !
Q2 D) <A Sales manager has to‘assign salesmen to four territories. He has four candidates of varying
_experience’and capabilities. The manager assesses the pos’sailkale*'proﬁt for.cach salesman in each

ii. - Find out Barliest Start and Finish Time,

Activity Node Duration
(Days )
A 12 . 4
4€ 15 13 A%
D e v R 5 Qy
E 2-4 20
F . 4-6 110
G’ 3-6 16
1LH of5-6 16
Page 2 of 6
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-~ territory‘as given below Y
Salesnian Territory < .

. LT 32 T3 ' T4

St ~135 27 ~ 28 37

AS2 28 .2 34 1229 40

)| S3 35 o~ 24 32 33

A0 LS4 ; 24 132 A 25 28
Find the assignment of salésmen to the territories so.that total profit is Maximum. (8)

- Q3 A) From the Following details of the project .

i.  Draw the network diagram and identify critical path 3)

Latest Start and Finish Time of Each activity

®)



Paper / Subject Code: 86001 / Operation:Research

Q.3 B) A company is transporting its units from three factories F), Fo, F3 with the production
capacities od 11,13 and 19 units (in thousands). It has four warehouses W 1, Wa, W3 and
Wa. With demands of 6, 10, 12'and 15 umts (in thousands ) oy

units cost of transportatlon 1is given from each factory to each warehouse

W1 W2 W3 W4
F1 . 42 .32 50 26
F2.%] 34 & 36 |28 46
F3: 64 54 .7 36 82
Construct a Transportatlon table and Find Imtlal feasible solution by Least Cost Method (LCM)
: ‘ @)
« OR
Q.3 C) From the data given below Tl .
i. Draw adiagram “ )
ii. Find Crltlcal path ~ . Q) -
iii. Crash systematxcally the actwltles and determine optimal project duration (4)"
) Act1v1ty Normal -} Crash Cost Maximum
. : Duratlon (Days) per day( Rs) » posSible Cr»,as'h
%’ |- Time ’
1-2 6 80 2
1 1-3 48 190 4
I ER S £ 2Z
2-4 3 & . 0
2-5 5 o \ 40 ~ 12
36 32 2 200 4
46 I8 : 150 . 3
Y156 |6 - 0

Cost of completmg exght actlvmes in normal time is‘Rs. 6500 indirect cost Rs. 160 per day.

Q 3 D) Five jObS LI III IV and V are to be processed on two machine A and B in order AB

» : Processmg Time(Min)
Jobs N Machme A “Machine B
AT 90 : 70
s I N 40 80
I A° 40 .50
X V& g - 10
E V- 25 35
1) Flnd the sequence that 1 mmlmlzes the total elapsed time ?2)
2) Calculate the total elapsed time. ; A3)
3) Tdle tlme .on for each Machme - A3)
B ;‘n‘é%:T,%eiﬁeaé?d%} i ?&%ﬁ-‘é&é %&L&?ﬁ%ﬁ&ﬁ%‘i}é Biven belaw: . 50 rough machinesa,
Jobs 1 2 3 4 5 6
~Machine A 12 > 8 7 11 10 5
“| Machine’B 3% 4 2 5 2 4
Machine C 1 10 9 6 11 4
5752690 LN Page 3 of 6

X1 14Yi¥BEB57XI 14YABEBS57X114YABEB57X114YABEB57



Lo,

Paper / Subject Code: 86001 / Operation Research

() Find the sequence that minimizes the total elapsed time requlred to complete the job (2)
(ii) Calculate the total elapsed time -

(iii) Idle time on Machine A, Machme B and Machme C

)
)

Q.4 B) you are given the Pay-off (Proﬁt in Rs ) matrrx in- respect of Two-Person-Zero — Sum
Game as follows § -

Player B
T BT B2 B3 | B4
Player ¢ [AT =7 [500 = 260 & | 200 = |20
A &9 vy - _100 : _40 r i
N 200 400 160 |20
TAd 20250 1300 =100 t]°?k 50
(i) Find the Maxnmm Strategy A3)
(ii). Find the Mmlmax Strategy A3)
(m) What i i the value of the Game? ; §))
OR

Q. 4 C) A company is transportmg its units from three factor1es Fy Fz, F3 to four warehouses

> W1, W2, W3 and W4-The supply-and demand of units with transportation cost per unit (in Rs.)

are given below with feasible solution (The numbers which are in crrcle indicates number of
unlts transported from Factory to Warehouse)

. Plants Warehouses - Supply
= ; ‘ A in Units
o Wi W2 ) W3 W4
O Fy. 10 > - 4 40
w3 s s 13 6 11 31
&l ® | O
Fs <&l 4 b 8 10 13
Demand in Units | 25 35 16 24 100
(1) Test the solutlon for optlmallty &)
(11) If solutlon is. not optlmal find optimal solution. &)

;}52690 |
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Paper / Subject Code: 86001 / Operation\Research ..

Q,4 D) A small project consist of seven act1v1t1es Optlmlstlc most hkely and pessimistic time

estimated in days are given below

ctivity receding = : 'f‘MOSt likely Pess_i'mistic
Activity . |Optimisti * Time ~
7 Je Time. } ;
A & o v S -8
B - 2 N D 14
C A 4 6 14
D SA 3 7 15
E B,C 2 3 10
F D 3 3% 3
G 5 E A 1 o a9

i) Construct the network dlagram of PERT network and find expected completlon time.

of the prOJect

iii) Determme the probablllty of completmg the prOJect in 21 days

)
“)

Q. 5 A) Define operatlon Research and What are the Characterlstlcs of Operatlon research

technlques"

" B) Explaln ObJ ectlve of Prolect Crashmg of Network analysns

‘ OR
Q.5 C) Wnte a Short notes on Any Three
J)Degeneracy n transportatlon
“1f) Dummy-activity i in"network analySIS
" iii) Three time estimates in PERT
iv) Project crashing:
V) Assumptlon“m LPP

52690 . 7 Page 5 of 6
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NORMAL DISTRIB

Page 6 of 6
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3UTION TABLE
Area Under the Standard Normal Distribution <
Z |0.00 0.01 0.02 0.03 0.04 0.05.7 0.06 0.07 0.08 0.09 -
0.0 | 0.0000 | 0.0040 | 0.0080.1 0.0120 | 0.0160 0.0199 | 0.0239.| 0.0279 [-0.0319 | 0.0359
0.1]0.0398 |0.0438 | 0.04787 0.0517 | 0.0557 | 0.0596 0.0636 | 0.0675 | 0.0714 | 0.0753
0.2 ]0.0793 | 0.0832 | 0.0871 | 0.0910-] 0.0948 [-0.0987 0.1026 | 0.1064 | 0.1103 | 0.1141
03]0.1179 |0.1217 | 0.1255 0.1293 | 0.1331} 0.1368 0.1406 | 01443 | 0.1480 | 0.1517
0.4 ]0.1554 |0.1591 [-0.1628 | 0.1664 0.1700 | 0.1736} 0.1772 |-0.1808 | 0.1844 0.1879
0.5]0.1915 |0.1950+/.0.1985 [-0.2019 0.2054 | 0.2088 | 0.2123:[°0.2157 [.0:2190 | 0.224
0.6 | 0.2257 |0.2291 [ 0.23241°0.2357 | 0.2389 0.2422 | 0.2454 | 0.248610.2518 | 0.2549
0.7]0.2580 | 0.2612 | 0.2642] 0.2673.1°0.2705 | 02734 0.2764 1 0.2797'| 0.28231.0.2852
0.8]0.2881 |0.2910 | 0.2939 | 0.2967 | 0.2995 |-0.3023 0.3051 | 0.3078 | 0.3106] 0.3133 |
0.9 10.3159 .['0.3186 | 0:3212 | 0.3238 | 0.3264 0.3289.1.0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 | 0.3413 | 0.3438 {-0.3461 | 0.3485 | 0.3508 | 0.3531 0.3554 1.0.3577 | 0.3599 | 0.3621
1.110.3643 | 0.3665 | 0.3686.1-0.3708 0.3729 | 0.3749 | 0.3770°{ 0.3790 |-0.3810 | 0.3830
121 0.3849 |0.3869 | 0.38887]0.3907 |.0.3925 0.3944 [ 0.3962 | 0.3980 ] 0.3997 |-.0.4015
13 [.0.4032 | 0:4049 | 0.4066 | 0.4082] 0.4099 104115 | 0.4131 | 0.4147 0.4162-1 0.4177
1.41°0.4192 |110:4207 | 0.4222 | 0.4236 0.4251+ 0.4265 [:0.4279 | 0.4292 | 0.4306 0.4319
1.5 ] 0.4332::70.4345 [ 0.4357 0.4370 | 0.4382 | 0.4394| 0.4406 | 0.4418 | 0.4429 0.4441
1.6 | 0.4452" | 0.446310.4474 |-0.4484 | 0.4495 0.4505 | 0.451510.4525 |.0.4535 0.4545
1.7 | 0.4554 0.4464 | 0.4573°]°0.4582 04591 | 0.4599 | 0.46087] 0.4616 [-0.4625 | 0.4633
1.8 0.4641 | 0.4649 0.4656 | 0.4664°1-0.4671 |.0.4678 | 0.4686 0.4693"| 0.4699.| 0.4706
1.9 1-0.4713 | 04719 | 0.4726 | 0.4732 0.4738 -0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0710.4772 +1.0.4778 04783 | 0.4788 [ 0.4793 0.4798.10.4803 | 0.4808 | 0.4812 | 0.4817
2:110.4821" ] 0.4826.]-0.4830 | 0.4933 0.4838 | 0.48421 0.4846.[0.4850 | 0.:4354 0.4857
112.2 1 04861 | 0.48467 0.4868.]0.4871 | 04875 0.4878 | 0.4881-| 0.4884 [70.4887 | 0.4890
12.3[0.7893 | 0.4896 0.4898 | 0.4901 [-0.4904 | 0:4906 0.4909 | 0.4911] 0.4913 | 0.4916
2.4 1.0:4918 | 0:4820 0.4922 | 0.4925.] 0.4927 10:4931 | 04931 0.4932 | 0.4934 0.4936
2.5.{°0.4938 [-0.4940 04941 | 0.4943 0.4945°0.4946 | 0.4948 | 0.4949 | 0.4951 0.4952
2.6 0.495371 0.4955 | 0:4956 | 0.4958 | 0.4959 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.7 | 0.4965 0.496610.4967 |0.4968 | 0.4969 | 0.4970 0.497110.4972 | 0.4973 | 0.4974
2.8 0.4974 | 0.4975 | 0.4976:10.4977 0:4977 | 04978 | 0.4979 | 0.4979 | 0.4980 0.4981
2.9 104981 | 049821 0.4982 | 0.4983 0.4984 |-0.4984 | 0.4985 | 0.4985 | 0.4988 0.4986
3.0{:0.49865 [.0.4987 | 0.4987 0.4988 | 0.4988' 0.4989 | 0.4989 | 0.4989 0.4990 | 0.4996
4.0 0.49968:{" : :
****************************
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Paper / Subject Code: 86002 / Elective :_Fiﬁénce: Infé’i‘national Finance

Duration: 2.5 Hours > & <~ _Marks: 75
Note: = >y
1) All questions are compulsory subject to internal choice:"
2) Figures to the right indicate full marks. Y
3) Use of simple calculator is allowed

(a8  Multiple Choice Questions (any 8): N Ay " (08)

(1 is the branch of economics that studies the dynamics of exchange rates,
foreign investments, and how these affect intemational trade. ..V S
(a) International Finance & .
(b) International Marketing : '
() International Economics
(d) International Monétary System

(2)  The asset price at which the investor canexercise an'option is called L
(a) Strike \ & ‘ N <
(b) Spot
(c) Future -
« ~.{d) Forward

(3)"  Currency that is used as a unit of account, medium of exchange and store of value not
- only.for transactions within the country, but also for international public and private
transactions, is called as currency. : .
(@) Vehicular
< (b) Home~
(c) Variable
(d) Foreign

(@) BBC Global 30, S&P Global 100, S&P Global 1200 are exa;nples of<”
~(a) International Equity Benchmarks ; ' '
7 (b) Yankee Stock Offering
(c) Cross Listing.of Shares
(d). ADRs
) v s the risk of exchange rate that creates an impact on the market value of a
“.company, ) ; .
(a) Economic Risk
(b) Transaction Risk
(c)Translation Risk
(d) Liquidity Risk

(6) = FOREX.market facilitate the conversion of one currency into another i.e. payment
" between exporters & importers. This function of FOREX Market can be referred as
() Transfer of Purchasing Power o
(b) Credit Function
(¢) Hedging Function
.A(d) Risk Management Function

o 52204” Page 1 of 4
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Paper / Subject Code: 86002 / Elective : Fvinance: Int{érnational;fFinance '

Sy

@) is the process of assessing,. in a structured way, the case for proceedmg W1th
a project or proposal, or the project’ S VIablllty :
(a) Project Appraisal
(b) Project Management
(c) Risk Mitigation
(d) Risk Management

® offers foreign individuals'and businesses l1ttle or no tax llablhty ina
politically and economieally static env1r0nment ; 5
(a) Tax Haven
(b) Offshore Banking Unit
(c) FOREX Market
(d) Tax Neutrals

9 involves the simultaneous buying and ‘selling of an asset in-order to profit
from small differences in price. N 3
(a) Hedging '
(b) Speculation
(c). Arbitrage
(d) Investing

(lO)‘j; «. -~ Exchange Rate is a system where the currency pr1ce 1s set by the forces of .
.~ forex-market i.e. demand and supply of currenc1es A
A (a) Flexible

(b) Fixed
(¢) Managed Float
&5 (d) Gold ; : ;
Q. 1 (B) State whether the following statements are True or False (any 7): ,:;;l 07)
1)- Umlateral Transfers are recorded under Capltal Account of BOP \
?;»2) FEMA was replaced by FERA.. Q\

3) NPV is a non-discounted technique of Cap1ta1 Budgetmg
4) If the Quote is given as USD- INR. 83.1550- 75 “This quote is called as “Direct
~ Quote” in'New York. :
; 35) India‘is a Tax Haven nation.
6) There is easy-entry and exit in FPI,
7).-To be cross-listed, a company must comply with the requirements of all the stock
N exchanges in which it is listed,
&> 8) Changes in market inflation cause changes in currency exchange rates.
\Y 9) Call option gives the right to buy anasset at a fixed date and price.

10) Under Bretton Woods system, countrxes could use USD as a medium of exchange

for 1nternat10nal settlements.

52224 +3 Page 2 of 4
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v Paper / Subject Code: 86002 / Elective :-_Fifnance: Irrtornational ,Fihance

Q.2.(A) Discuss the significance of International Finance in today’s context. N o (08)

(B)  What is Balance of Payments? How isit different from BOT‘? What is.meant by = 07) .‘
Autonomous and Accommodating Transactions? > '
OR %
(P) The following quote is given in Canada: 1SGD = CAD 1 01 10 85 : ‘ . (08)

1) In which country, the quote is “Direct”?
2) In which country, the quote is: “Ind1rect”‘7
3) What is the Mid Rate? '
4) What is Spread?

5) What is % Spread?

6) Calculate the inverse quote.

Q The following quotations are availablein USA .’ o) ‘ N (1) =
1 USD = GBP 0.8350-0.8425 2 s “
1 USD=CAD 1.1125-1.1175
And the quotation available in Canada is: 1 GBP = CAD 1.5550-I 5650 £ 4,
e - From the quotes given in USA, detive the quotatron for'1"GBP in terms of CAD"
Compare the derived quotation with quotation available in Canada and 1dent1fy if any
arbitrage opportunity exists. (Assume Capital GBP 2 Mrlhon)

Q.3.(A) What are Eurobonds? Explain different types of Eurobonds. ‘ N _(08)
(B).~ What are Currency futures? How are they different from Currency forwards‘7 ~(07)
AP) Consider the following information: . A3 (08)
e Spot CAD/SEK : ©7.86507 - 7.8700
. :..1 Month Forward : 50" - 70
2 Month Forward 200 - 340
3 Month Forward 920 - 1020
6 Month Forward ; - 1500 - 1600 <
Calculate 1 Month Forward, 2 Month Forward 3-Month Forward and 6 Month Forward
CAD/ SEK Rates.
Q). Spot USD/INR 83.1525 : (07)

3 Month Forward USD/INR 83.2525 i
Calculate 3 Months AFM and interpret the results,

@Q.4.(A) What is FDI? What is FPI? How are they different from each other? (08)

B ,Dlscuss global money market instruments. \ ) 07)
(®)°  Given: : (07)

Spot. AUD/JPY 99.1575
AUD Interest Rate = 0.75% p.a.
JPY Interest Rate = 1.50% p.a.
Calculate three month forward AUD/JPY rate

(Q)  From the following data, find the best alternative for investing INR 5 Million for a (08)
S temporary period of 3 Months. Exchange rates are against INR.

i Currency Spot Rate 3 months Interest rate
o - forward rate
| 1. JUSD 83.5650 83.5950 5% p.a.
© (2. |EUR 90.1225 90.0550 3% p.a.
3. |'GBP 102.5650 102.5750 4% p.a.
52224 Page 3 of 4
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Q.5.(A)
(B)

Q..
®)

Paper / Subject Code: 86002 / Elective : Finance: que’rnationglfFinance

What are the Benefits towards Parties doing Business Intemationally7 ’
Ms. Gurneer is planning to buy a machine which would generate cash flow after taxes
as follows: A o
Year 0 1. 25" 3% 4
CFAT in USD (1,00,000) | 24;000 32 000 60,000 32,000
If discounting rate is 10%, is it worth to'invest in machines. A 5
Year 1 2. \3 > 4 7
Discount Factor 0.909 \-O,,826 10.751 0.683."
OR

Write Short Notes on (any three) Py
1) Fixed Vs. Flexible Exchange Rate System

2) ADRsVs. GDRs,.

3) Foreign Exchange Dealers’ Assoc1at10n ofIndla

4) PPP Theory

5). “Eurocredit

Page 4 of 4
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Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

TIME: 2.5 Hours 74 MARKS: 75

Note: 1.All questions are compulsory subject to internal choice.
2. Figures to the right indicate full marks.
3. All working notes will be part of the answer.

Q.1  Answer any two from the following. (15 marks)

(A) Define financial services. Explain the réasons for the growth of innovation in
financial services.
(B) Growth Facto;s advances Rs.14 lakhs to Janhit Ltd. against agreement for providing
advance paYment of 80% of trade receivables argd for guaranteed payment after 3
months which is the average collection period. The rate of interest is 20% compounded
quarterly and fagtvoring commission is 1.5% of receivables, both collected upfront.
Assume a year of 360 days.
. a. Compute the amount actually made available to Janhit Ltd.
b. Coinpute the effective cost of funds made available to Janhit Ltd. on an annual
" basis.
‘c. Assume that intérést is collected in arrears and commission in advance, and
calculate the effective cost of funds on annual basis.

(C) Explain bill discounting scheme 1970.

Q.2 Answer any two from the following, (15 marks)
(A) Describe the role of Underwriter to the issue and its code of conduct.
(B) Enumerate the features of financial futures and forward contracts.

(C) Explain the benefits of securitization to banks, originators, and investors.

Q.3 Answerany two from the following. “ (15 marks)

(A) Harry purchased an electronic gadget on hire purchase system. The total cash price of the
gadget is Rs.200,000.-Down payment of Rs.70,000 is payable. Three annual installments of
Rs.53,000, Rs.49,000 and Rs.55,000 including interest is payable at the end of first, second and

third years respectively. Interest is charged at 10% p.a. Rate of depreciation is 10% on straight
line method. You are required to:

* Prepare a table showing the yearly interest pay-outs for all three years. Calculations are
to be made to the nearest rupee.
* Journalise the above transactions in the books of the hire purchaser for the first year.

‘(B) Explain the role of NHB in housing sector in India.

© Desc}ibe the exit routes for venture capital finance investors.

530740 % & Pagel of2
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Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services ‘

Q.4  Answer any two from the following. (15 marks)
(A) Define consumer finance and explain:the drawbacks of consumer finance.
(B) Explain the types and benefits of creoit cards.
(C) Explain the features of smart cards.

Q5. Case Study

Mr. Bijoy wants to d1vers1fy his 1nvestment portfoho He wants to invest 1n corporate bonds
However he is not clear about credit rating and its 1mpllcanons He is seekmg your help to de-

mystify the concept and 51gn1ﬁcance of credit ratmgs Answer the followmg questions to help

Bijoy.
a) What are the objectives of credit rating? (0O5marks)
b)'How does credit rating benefit investors? Is credit rating the only criterion for investing

in bonds? - - ol (05 marks)
c¢) What is the process of credit rating for the bond issuer? : ' (05 marks)
33074 ’ Page 2 of 2
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Paper / Subject Code: 86008 / Finance: Project Management

Time: 2.30 Hrs 3 > Marks: 75

(A) Multiple Choice Question: (Any 8) (t))]
L project are those s'et up within the national boundaries of a country.

(1) National (ii) International (iii) Normal (iv) Private

z. is the long-term strategic decision which determines a company’s capability to
supply products or services.

(1) Project Management Maturity Model (PMMM) (ii) Continuous improvement

(iii) Capacity planning « (iv) Procedural
3. - s the-‘s‘eht:of tasks grouped chronologically into processes and the set of people or
resources needed for those tasl‘(s." . , :
* (i) Organisation - (ii) Workflow (iii) Project.  (iv) Organisational structure
4, analysis enables the government to take up new developments which will benefit
everyone and not just a few.
(1) SWOT (i) Environmental Impact Assessment (EIA)

(1i1) Feasibility studies (iv) social cost benefit

5. is the process of tracking, reviewing, and reporting the progress to meet the
performance objectives defined in the project management plan.

(1) Project Management Maturity Model (PMMM) (ii) Monitor and Control Project
Work (iii) Project management information system (iv) Project auditing

6. are instruments for raising debt capital.
a. Equity =~ : ) :

b. Preference

c. Factoring

d. Debenture

¥: is the number of days a company takes in realizing its inventories in cash.
a. Cash Cycle

b. jSerating cycle

c..Debtor cycle

d. Creditor cycle

’53258, &Y | Page 1 of 5

X114Y59DE19X114Y59DE19X114Y59DE19X114Y59DE]9



Paper / Subject Code: 86008 / Finance: Project Management

8. If PI < 1 then reject the project.
a) Accept

b) Reject

¢) No effect

d) Positive effect

& contains the recognition that process 1mprovement is necessary to maintain a
competitive advantage.

a. Level 1- Common Laniguage
b. Level 2-Common Processes

¢. Level 3-Singular Methodology
d. Level 4-Benchmarking

e. Level 5- Continuous Improvement

10. The key to a successful prOJect is in the
) (1) Planning (ii) Organising (iii) Monitoring (1V) Implementation

(B) Match vftbhe following: (Any 7) -l o %
( Group ‘ALY Gi‘oup ‘B’
(a) Fea31b111ty study | (i) Internal and positive factors
(b) Technical : '(11) A tool wused to identify  the |~
< feasibility oy environmental, social and economic:
. : impacts of a project prior to decmon-
. making. ;
(c) Economi}e (iii) Financial analysis
|+ viability. 5 v
(d) Swot < (iv) External and positive factors
(e) Strengths - |(v) Strategic planning tool

(f) Weaknesses (vi) Technology :
(g)" “Opportunities (vii) External and negative factors

(h) Threats: (viii) Better use of available raw material
(i) Environmental o (ix) Improve the standard of living in
impact . society

assessment

(i) "Positive NPV (x) - Internal ana negative factors
‘ (xi) Accept the proposal

Q2. A Dlscuss P1 oject Management Maturlty Model. 3

Q2. B. How is prOJect class1ﬁed‘? : < )
OR

53258 Page 2 of 5
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Paper / Subject Code: 86008 / Finance: Project Management

(15)

Q2. A company can make either of two investments. Assure a required rate of return at 10%,

determine for each project.

(a) Net Present Value.
(b) Profitability Index.

The cash inflows of the twio projects are as follows:

Particular C A -~ B
Cost of Investment - 10 00,000 12,00,000
'(Rs.) .
Expected Life 5 Years| S Years
(No Salvage)
Cash Inflow;
Year 1 80,000 90,000
’ pJ; 70,0001 1,50,000
3 80,000 | 1,00,000
. 4 70,000 80,000
5 .60,000| 80,000
Year | | Year2 | Year3 | Year4 | Year 5
PV ofRe 1 @ 10%| 0.909 1 0.826 |-0.751 | 0:683 | 0.621
of: : ‘

Q3. A. What is'the importance of project planning‘?
Q3. B. Discuss government assistance toward project management for start-ups.

OR

Q3. The data relating to two companies are as giveh below:

Particular COHX) any Com];) any
Equity Capital @ Rs. 10/- each Rs. 5,00,000| Rs. 3,00,000
10% Debenture Rs. 4,00,000| Rs. 6,00,000
Qutput (unit) p. u. \ 20,000 30,000
| Selling Price Per unit Rs. 35 Rs. 30
- | Fixed Cost p. u. Rs. 5,00,000| Rs. 1,00,000
Variable Cost p. u. Rs. 20 Rs. 10

@®)
(7

15)

Youare required-to calculate. the operatmg leverage: (OL) financial leverage (FL) and combine
leverage (CL) of two companies. Tax rate 30%. find out impact of leverages on Cost of Capital.

Q4. A. What is Risk? Sjafé and explain various types of risk in project.
Q4. B. What are the reasons for project termination?

53258 ~
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Paper / Subject Code: 86008 / Finance: Project Management

Q4. On 31 March, 2022 the balance sheet of Gomati Ltd. was a_é follows: -

Balance Sheet

(15)

Liabilities Rs. _Assets Rs.
Share capital: ‘ ‘
Authorized 20,000 equity shares |2,00,000 |Land and buildings |3,00,000
of Rs. 100/- each
Issued and paid up 15,000 Furniture 1,72,500
equity share of Rs. 100/- each -
-15,00,000 © \
Less: Calls in arrears at Rs. 20/- | 14,98,000 | Stock 4,50,000
each . 2,000 :
Reserves Afc: 1,54,500 |Sundry debtors 9.07,500
Bank Overdraft 32,000 Bills Receivable 20,000
Creditors 1,15,500 | Bank 1,30,000
Bills Payable . 67,500
Outstandlng Expenses 1,12,500 :
$ 19;80,000 > 19,80,000
The net proﬁts of the company after provrdlng for tax were as follows
Year Ended "Res.

318 March, 2022 11,82,500

318 March, 2021 1,70,000

31* March, 2020 1,97,000

31% March, 2019 1,85,000

31% March, 2018 . 1,45,000

On 31% March 2022. Land building were values at Rs. 4,75,000 and Furniture were valued at

Rs 2,05 000 Normal rate of return can:considered at 10%.
Rs. 77, 800. '

Goodwill is:to be valued at

Find the intrinsic value ‘of fully paid and partly paid equity shares. Consider closing employed

as.average caprtal ernployed

Q5. Calculate: the 1mportant ratios for grantrng term loans and give your recommendations

from the following 1nformat10n

15)

(Rs. in Lacs)

Vear

I- 11

111

Profit before Interest & Tax

60.00

80.00

100.00

Tax rate 40%

Loan is repayable irf%qual instaﬁments atthe end of the each of the 3 years along with interest.
Loan amount: Rs. 420 lacs @ 12% p.a.

Capital investment in project: Rs. 600 lacs depreciable equally over 3 years

53258
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Paper / Subject Code: 86008 / Finanéé: Project Management

QS. Write Short Notes on: Any 3 5 = 15)

a. Forms of organisation structure
b. Production Planning and Control,
c. Continues improvement. :
d. Significant of Demand Forecasting
e. Conflict in Project Management.
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‘ Paper / Subject Code: 86011 / Finance: Strategic Financial Management -

Duration: 2 %2 Hours ‘ “wl | ‘Marks: 75.°

Instructions:
1) All the questions are compulsory-

2) Figures to right indicate full _marks.
Q.1(A) Choose correct alternatlve and rewrlte the statement: (Any 8) (8

1. Incase of Loss Asset provision for NPA should be made
a) 15% ;
b) 25%
c)40%
d) 100% 4}

2 Relatlonshlp between dividend per share and earnlng per share is
a) Price Earnings Ratio - v

b) Dividend yield ratio
') D1v1dend payout. ratlo
d) 1ntr1nsrc value per share &

3. Net Proﬁt for calculatlon of EVA is
~a) NPAT -~
"b)NPBT
c) NOP
d) NQPAT

4. If the firm has Ke L the Walter s Model suggests for
- a) 0% Payout
b) 50% Payout
c) 25% Payout
d) 100% Payqnt

=

5 Merger between firms. engaged in unrelated types of busmess activity is
7 a) Horlzontal :

b) Yertlcal y
¢) Conglomerate
‘ d) Reserve.

6. Capital Rationing helps in shareholders wealth.
' a) Maximizing - 8 :
b). Mlnlmlzmg
c) Stablhzmg
~~.d) Measuring

V534595 N Page 10f 4
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Paper / Subject Code: 86011 / Finance: Strategic Financial Management

7. PI of a project is the ratio of present value of inflows to
a) Initial cost oY
b) PV of outflows
¢) Total cash inflows
d) Total outflows

8. represents those funds which are required to manage day-to-day
business operations. < : \
a)  Long term capital
b)  Short termcapital
¢)  Working capital
d)  None of above

a) -Bill discounting

b) - "Letter of credit

¢) Commercial paper -~
‘d)  All ofithe above

9. Which amdﬁg the following is short term sources af working capital financing?

108 -~ 1s a schem?tic representation of several decisions followed by different
chances of the occurrence. - N \
a)<" Sensitivity analysis
b)’ Probgﬁi/lity techniques :
~¢)  Risk'Adjusted Discounting Rate
d) Decision Tree

Q.1 (B) State whether given statements are True or False: (Any 7) @)
- 1. Corporate governance ,éSsentially involves ‘balancing of the interests of only
- shareholders. -
Dividpnéf"policy is.decided by the sharehqldérs.
MM model deals with relevance of dividend decisions.
Preference dividend is deducted from NPAT for'calculation of EPS.
Standard assé(i:s are those assets w}fiéh do not have any risk:
_~Capital budgeting de‘ciéions invelves huge\ixjvéstment Hosut'lay. )
In ordeif“«to protect the earnings available,’ tokshareholders, the swap ratio should be
based .on MPS. A - < o
MPBEF refers to Maximum Permissible Bank Finance.
9.  Discountingof bills is converting the bill into cash.
10. -. Dividend ‘ﬁayout ratio;j refers to that portion of total earnings which is distributed
~ among shareholders: ; «

i =V I NIt

00 -

Q:2A. Rfl"jL‘td. has q_,h_“éz(ipital of Rs. 10,00,000 in equity shares of Rs. 100 each. The shares
v__a?é’ current‘ly(q:’uoted at-par. The company proposes to declare a dividend of Rs. 10

.per share at-the end of the current financial year. The capitalization rate for the risk

" class of which the company belongs is 12%. Compute market price of the share at

the end of the year, if a15s)
i)~ dividend is'not declared

P 53459 - ! Page 2 of 4
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Q.2B.

Q3A

Q.3B.

~ Paper / Subject Code: 86011 / Finance: Strategic Financial Management

ii) dividend is declared

Assuming that the company pays the dividend-and has net profits of Rs. 5,00,000
and makes new investments of Rs. 10,00,000 during the period, calculate number
of new shares to be issued? Use the MM model.

OR

With the help of following figures, calculate the market prxce of a share of company
by using: v , (15)
i) Walter’s formula °
i) Gordon’s formula.

Earnings per share (EPS) . | Rs. 10

Dividend per Share (DPS). Ay Rs. 6

Cost of Capital (Ke) - 20%

Internal rate of return on investment 25% .

Retention Ratio = 1140%

PVR Ltd. is conmdermg a project with the following Cash flows: : 15)
Year 5 Cost of Plant (Rs.) Runmng Cost (Rs.) | Savings (Rs.)
0 e 12,00,000 -

1 A > 4,00,000 12,00,000

2 - 5,00,000 -14,00,000

3 - 6,00,000 11,00,000

The-cost of capltal is 12%. Measure the sensitivity of the project to changes in the
levels of plant cost, running cost and savings (considering each factor at a time) such

- that the NPV becomes zero. The'P.V. factors-at 12% are as under:

Year

0

1

P

3

PV factor @ 12%. :

1

0.892

0797

0711

Determme the factor whlchkls most sensmve to affect the acceptablhty of the project?
2 OR i,
Mohan Ltd\h'as Rs. 35 ,00,000 allocated for,capital budgeting purposes. The proposals

and associated profitability indexes have been determined.

15)

Projects . Imtlal Investment (Rs.) | Profitability Index
P ' 10,50,000 - 1.22
Q . &5,25,000 0.95
R~ 12,25,000 1.20
S 15,75,000 1.18
T 7,00,000 : 1.20
> U 14,00,000 .~ 1.05

i) Calculate the Net Present Value for each of the projects
i) Wthh of the above investments should be undertaken? Assume that projects

are 1nd1v1s1b1e and there isno alternatlve use of the money allocated for capital

; ‘budgetmg

53459 -
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Paper / Subject Code: 86011 / Finance: Strategic Financial Manag‘ement

Q.4.A Calculate Variance and Standard dev1at10n of the PI'O_] ect A and Project B-on the ba51s

of the following information: (15)
Possible Event Project A v Project B :
Cash flow Probability Cash flow Probability
(Rs) (Rs)
A 8,000 . 0.10 « 24,000 0.10
B 10,000 0.20 -~ 20,000 0.15
C 12,000 0.40 16,000 0.50
D 14,000 © 0.20 12,000 0.15
E 16,000 0:10 8,000 0.10
Q.4  Siddhesh Ltd furnlshes the followmg 1nformat10n for the year A (15)
Cost sheet % of selling price ' ‘
Raw material <7 ~ 40%
Wages o X ~30%
Overheads 05 20%
Total Cost 90%
* JProfit ¢ 10%
Selling price 100%

Additional Informatlon
i) Output and sales for the year is 1,20; 000 units.
ii) Raw materials remain in stock for one month s consumption
iii) Process period is‘one month.
iv) Finished goods remain in stock for two months.
v) Credit period allowed by the supphers of raw materlal 1S one month.
Vi) Credit perrod allowed.to debtors is two months *
Vu) 20% of purchasmg will be for cash P
~ 4"V111) Time: lag in paynwnt of wages and Overheads is one month
- ix) Cash and bank balance i is to be maintained at Rs. 50,000
X) Selhng prlce isRs. 15 per unit :
You are requrred to find out:
a) Working Capital Requ1rement of Srddesh Ltd.
- b) Maximum Permissible Bank Finance as per Tandon committee assuming the
value of core current assets Rs. 2,50,000.

Q.5(A) Explaln the advantages and dlsadvantages of XBRL @)

(B) What are the short-term sources of ‘working capital finance? 8)
v " 2 OR

Q.57 Write Short Notes'on: (Any three) -y 15)

a:. Market Value Added- -
' NPA and their Provrslonmg
Types, of Mergers &)
Commercial Paper '
v, Factors determmmg workrng capital requirements

[ T e
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Paper / Subject Code: 86003 / Elective : Mi‘é}‘»keting;,‘j@rénd Manai“:gement\;\:

[Time: 2" hours] " hal [ Marks:75]

Please check whether you have got the right question paper.
N.B: 1. Figures to the right indicate full marks. "

2. Draw suitable diagrams wherever necessary

3. Illustrate your answers with examples

4. Rewrite the questions for Q1.a and b.

a. Multiple Choice Questions (ANY EIGHT) : o (08)

1. is not a scope of branding.(Physical goods, Services, Retail, Savy customers) .

2. The tagline of Bournvita is {(The Taste of India, Taan ki shakti-Man ki shakti, Kuch-meeta
ho jaye, Daag Acche Hain) o AN D R,

3. is quantitative research technique. (Completion, Comparison, The Big Five, Brand
Response) iy RS ") o

4, is discount pricing policy. (Value pricing, Cost-based pricing,Everyday-low pricing",
Introductory pricing) ] " )

5. Brand Asset-Valuator (BAV) model was given by Global Advertising Agency. (Omnicom
Group, WPP PLC, Young and Rubicam, Ogilvy, and Mather) ; :

6. Under _ ~  value stage, does marketing activities like product research, design and development

take Qﬁiée. (Program Quality Multiplier, Marketing Programme Investment, Custqﬁjer Mindsﬁgt«,“
Investor Sentiment Multiplier)

7. Product mix is also known as . (Product assortr{lent, Prodp,ct line, Product catalogue,
‘Product classification). b 3 % Ny
8 A brand is defined as a brand that is used in more than .one product category but is not

necessarily the name of the company or corporation. (Range/Family, Corporate, Modifier,
Individual)

9. . individual brand is presented to consumer as a parent company.-(-LUX- Unilever, Swiggy,
Zomato, IKEA) <)

10:Managing brands for the long run involves . (reinforcing, rejection, accepting, enacting)

. State whether the-following statement is TRUE or FALSE (ANY»'Q"SEVEN) 07)
- Branding is a sttategic point of view, not a select set of activities.
. Brand awareness consists of brand recognition and brand recall performance.
. Relationship ‘marketing attempts to provide a more holistic, personalized brand experience to
“Create stronger consumer ties. 5 )y
4. Channel strategy includes the desi gn and management of intérmediaries such as wholesalers,
- distributors, brokers, and retailers. g
5. Licensing creates contractual arrangements whereby firms canuse the name, logos, characters, and
SO forth of other brands to market their own brands for somie fixed fee.
6.'Brand Persqnélity can be defined as a set of human characteristics associated with a brand.
7. Aided recall could be gauged by asking the respondent to mention the brands in a particular
_ product category.
- 8. Brand strength measures the ability of the brand to secure the delivery of expected future earnings.
9. The breath of -abranding strategy describes the number and nature of different products linked to
the brands sold by the firm. ,

10.Green marketing is the marketing of products that are presumed to be environmentally safe.

ey

W N~ g
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Q2.

Q3.

Q4.

Q5.

R

- Discuss the term cause marketing . Highlight its advantages*«for‘ the companies.
. Describe the term Brand positioning. State its importance. ' ;

. Infer the term brand personality. State the big five model of brand personality. <
- What arebrand extensions? Explain its advantages anddisadvantages. -

Paper / Subject Code: 86003 / Elective : Marketing: Brand Management .

Answer the following

. Point out the difference between Brand versus Product;: ke e sy v
. Infer the term Integrated Marketing Communication (IMC). Bring out the various toq‘ls\";jof MC

used by a brand manager.

RN

OR

- Construct the Brand Value Chain model in detail with exaihple.
. Ilustrate the Brand Product Matrix with examples. :

Answer the following A Q" »y

- State the various criteria for choosing the brand elements, if you are appointed as a brand managér

for a new product.

. Summarize the Brand Asset Valuator (BAV) model in brief.

OR

Answer the following

OR

A

- Discuss the Customer Based Brand Equity (CBBE) model With:s'éxample.A,'»-‘-' &7
- Explain perceived quality and relationship marketing in product strategy. 7

~"Write Short Notes on (ANY THREE)

Importance of brand to customers.
Brand leveraging,

Brand awareness pyramid.

Brand hierarchy.

.~Revitalizing brand.

OR
Case Study :

Th;eziBody Shob is a British skincare, perfume,.and cosmetics company and has a range of 1000
products and sells over 3000 plus franchised and owned stores. The brand believes in cruelty-free

sproducts where no animals are harmed while making the products. Tt uses fresh and sustainable

ingredients and has found alternative technologies for testing on- animals, Today consumers are
looking-forward -to maintaining a healthy lifestyle-and use organic products on their skin. The
Body Shop hasbeen positioned strategically to meet these requirements. They meet the customer’s
need for a healthy lifestyle by using all natural and organic ingredients like seaweed, sugarcane,

aloe vera, honey, tea tree, etc. The brand puts-forward the environmental concern and campaigns
~ragainst animal testing of the products. It is one of the very few cosmetic companies that promote

" health more than glamour and does not use conventional advertising to promote the brand.

Questions

A What is the basis of brand positioning? Which positioning has body shop used to create a
- global brand image? Give reason.

b, As a part of the brand management team, suggest any four Integrated Marketing

Communication (IMC) tools for Body Shop.

e ok ok e ok ok koo sk
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Paper / Subject Code: 86006 / Elective : Marketing: Retail Management

Time: 2 % Hours Max Marks: 75
Instructions: All questions are compulsory and carry 15 marks each.

Q1.A  Choose the right answer (Any eight)
1 means maintaining basic required stocks to fulfil consumer demands.
1. Inventory management. - ii. Store management
iii. Category management iv, Retail management

2 Electronic retailing permits

i Touch and feel factor ii. Reduction in set up cost
iii. Point of sale terminal. iv. Visual merchandising
3 . is not-a customer retention approach.

i. Frequent shopper programs ii. Personalization iii. Loyalty cards iv. HRM

4 : has parallel vertical lines that can be read by scanners.
i. Electronic article surveillance - ii.Bar code iii. RFD  iv. Stock keeping
unit

) _is a process-to identify &determine in detail the particular job duties and
requirements. '
i- Interview " ii. job analysis iii. Training iv. Selection
6 A . store is located without any competitor store aroundit.
1. Part of a business-district ii. Freestanding

ili. Shopping centre iv. Hypermarket

7 is a blueprint that states the arrangement of a store.
i. Store lay out  ii. Planogram iii, Space iv. Store aisle

8 products enjoy popularity and generate lot of sales in a short span of time
i. Fad ii. Seasonal - iii. Variety iv. Assortment

9 Inaretail store, inform the customers about the products, offers and price
i. Managers . ii. Fixtures iii. Mannequins -iv. Signage

10 Mostly, it’s the of the store that draws the customer’s attention to the store.
1 Layout  ii. Exterior iii. Interior iv. Display

Q.1.B  State whether the following,statements are True or False (Any Seven)
1 Retailer is the last point in the distribution channel.

[NS)

Multi-channel retailing is use of more than one channel to reach customers

A department store stocks a particular type of merchandise
Online fraud is'a limitation of e-tailing,

Shopping mall is an example of Destination location

Loss Leaders are sold below the cost.

Generic brands target price sensitive segment by offering no frills product at a
discounted price.

8 Visual Merchandising is also termed as Silent Salesmen.

3 ON L W
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Paper / Subject Code: 86006 / Elective : Miirketing: Retail Mana'gement

Government of India has allowed EDI in retail sector

Customer Loyalty means that customers are committed to shopping at retailer's -

locations.

Explain the functions performed by retailers

What do you mean by ¢electronic labels? Discuss the significance of the same
o (OR)

Describe the different types of franchising:

Explain the advantages of E-Tailing

Explain the factors to be considered before finalizing the store location

Discuss Any four customer retention approaches P
A . (OR)

Explain the objectives of CRM in retail .

Explain market research as a tool for understanding retail shoppers

Explain Buying Cycle in Retail, Lifestyle merchandising & Category Captain

Explain the principles of merchandising
o 2 (OR)

Explain the various pricing strategies that can be adopted by the retailer

Explain the need of private label brands in India

\Discuss vthé 58’sof Rétail Operations

Explain the Role of Store Manager in a Retail Store
: e ~(OR)
Short Notes (Any three). >

-Store Design

Airport Retailing
Store Atmospherics’
Career options in retail
Mall management
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Paper / Subject Code: 86012 / Marketing: Media Planni‘ng & Management

Duration: 2.5 Hrs.

Q.1A) Select the correct option; (Any 8 out of 10)

L.

‘53138‘ ~

is not a strength of magazines
2) shelflife t '
b) inherent design flexibility

¢) deadline flexibility

d) quality repro,duetion

Clutter is deﬁne,d as

a) A faulty broadband)_connection
b) Coars":é paper stock

c) An overabundance of messages
d) A promotronal tool v
Reach is defined as

-a) Insufﬁc1ent exposure to the target audience

b) The Number of times a reader is exposed to a message

c). The total- number of duphcated exposures

~d) The total number of unduphcated exposures

Marks: 75

08 marks

Which of the followmg isa key component of media plannmg that mvolves only with

determmmg where and when to place advert1sements‘7

a) ‘Media Strate gy

: b) Media Mix

c) Media Scheduhng
d) Medla Buying :
A media plan is typlcally); developed based on:

) Creatii/e Execution

b) Brand Reputatibn
c): Marketing .bj ectives.”
d) Market Valuation

" Media buymg 1nvolves

a) Negotlatmg prlces w1th medla vendors

b) Selectlng the most su1tab1e media channels

) Developmg creatlve advertlsements

d) Ev_aluatmg campa1gn effectiveness
Page 1 of 3
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Paper / Subject Code: 86012 / Marketing: Media Plan‘ning & Management

7. What term refers to the cost of reaching one thousand 1nd1v1duals wrth an advertlsmg ,

message?

a) Cost per Click

b) Cost per Exposure

¢) Cost per Interaction

d) CPM

8. The process of analyzmg the effectrveness of media campalgns and maklng

adjustments for i 1mprovement is’ known as;

a) Media Assessment
b) Media Evaiuatron

c) Med1a Monrtorlng
d) Med‘ra Analysrs;

9. The total number of times an advertisement is seen by the target audience is measured

by:

. a) Advert1s1ng Impressrons
b) Medla Exposure

c) Advertlsmg Frequency
d) Media Reach

10; Which term refers to the comprehensive strategy outhmng where and when Ny H

advertrsements wxlI be placed to achleve marketrng obJectlves"

a) - Advertrsmg Blueprlnt
b) Media Strategy ’

c) Audrence Targetmg
d) Market Analysrs

Q.1B) Match the column (any 7 out of 10) ‘ ' 07 marks
S CPM ‘ A | Measuring the effectiveness Method '
2 Continui“\‘ty;;v' u J B Emerging media option
3+ | IRS ' c Opportunity to see
4 Clutter in out)dvqor\ D ~Measuring brand and category index
5 frequency A 5 |E | Gross 'i'mpression
6 | GI S F Number of times an ad is repeated in a given
X ,perlod of time
57 Diary method | G | When too many hoardings are placed next to
| N ‘ each other
53138_" Page 2 of 3
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Paper / Subject Code: 86012 / Marketing:‘Media Planning & Management

8 BDI and CDI H | Cost per thousand

9 Mobile advertisement in India I Indian readership survey

10 | OTS J _|'When an ad runs in the media for along time
3 without' any gap - : |

Q.2a) Explain with examples the factors affectmg medla planning decisions. 08 marks
Q.2b) Who is a media planner? What are the role and functlons of a media planner? 07 marks
. OR
Q.2¢) “Media planning isinot free from challenges.” - Elaborate 08 marks
Q.2d) What is media research? Explain any two sources of media research. 07 marks
Q.3a) Explaln the advantages and 11m1tat10ns of Newspapers as a media, . 08 marks
Q.3b) What 1s media strategy" Why 1s media strategy needed? 07 marks
S A OR >
Q..3c) Explam w1th example any two type-of out of Home (OOH) media. \ 08 ma‘rks
Q.3d): S Explain any three New media of advertlslng with its merits and demerlts 07 marks
VYQ.4a) What 1s media. budget”’ What are the factors affectlng the medla budget‘7 08 marks
Q.4b) What is medla scheduhng" Explain any three media scheduling strategy. 07 marks
OR.a,
Q.4c) What'i is media buymg" What are the main objectives of media buying? 08 marks
Q.4d) What are the factors affectlng your media scheduling strategies. | 07 marks
Q.5a) Explain‘:‘the importanoe of reach and frequency in the media measurement process.
| | : 08marks
Q.Sb) 4 What are telev1s1on metncs" How are they useful in evaluatmg the effectiveness of a
STV ad‘? & : t_:b'f“' W 07 marks
: Q 5¢) erte short notes on any three of the followmg ¢ marks each) 15 marks
1.;/ "Radlo asa Medla
2" Features of Media.
~3. ABC \(Audit Bureau of Circnlation)
4. Trans1t Media -
5. BDI and CDI
53138__'
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Paper / Subject Code: 86004 / Elective : Human Resource HRM in Global Persp§btive

(2% Hours) A “Total Marks— 75
N.B.: (1) All questions are compulsory subject to internal choxce o
(2) Figures to the right indicate full marks. ‘

Q1. Fill in the blanks (any 8) o ;
1. ____ isconcerned with identifying and understanding how the MNC’s manage the|r geographlcally

dispersed worked force / . .
a. International HRM b, Staffing £ Development d Cross C‘!.lﬂlt’ure Training

2. Why should a company have an expatriation training program?
a. Toteach them how to implement the home countries ways of doing business in-other cultures
b. To familiarize employees with the history, culture and customs of the country they are belng aSSIgned
¢. Toteach the: employees to fluently speak foreign. languages
d. To commumcate the company's mission statement and pu rpose for exnstence

3. Incaseof : a company shifts the location of-a service or production of aparttoa locatlon
abroad .
a,outsources b. offshoring c. onshoring ] d. relocation R
4. The______isamethod of international recruitment.where the: MNC s hire the most suntable person/ forthe
job.irrespective of their Nationality. ) "
‘a. Regio Centric b. Geocentric c. Ethnocentric ... d. Polycentrlc

5. Implement a Buddy system, Offer Group Volunteer Projects, Providing Comprehensuve cross culture
training are ways of-dealing with

a. Dealmg with culture shock b. Motivating employees
C. lmprovmg Productlwty d. Managing under performers
6. A salient i issue in international HRM is understandmg and malntalnmg cultural
a. balance bi diversity e sultabmty d, adaptablllty

7. Personal & emottonal problems resultsin

a. expatriate - b. failure repatriation . stress d: Sccess

8.Culture _ is being aware that both cultural differences as well as cultural similarities exist
between people and affect attitudes

a. sensitivity b. suitability c. adaptability .- d. awareness
9. Unions that mclude workers who have a common skill are
a:‘trades unions b. industry unions  ¢. craft gu1lds d. craft unions

,10 Ethnocentrlc organizations are best characterized by:
Va. Key personnel positions are held by headquarter personnel.
b. SubSIdlarles are managed by local nationals (HCN)
c. A worldW|de mtegrated business which nationality is ignored in favor of ability
d. Staff may.move outside their countries but only within a particular geographic region
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Paper / Subject Code: 86004 / Elective : Human;,llgé'source : HRM in Glot)al Persptective

Q2. State whether True or False (any 7) :

1. Parent country is where the flrm s subsidiary is located ; \
Cross-cultural adaptability has an impact on the success or fallure of. an mternatlonal assugnment
Domestic HRM emphasizes on HR issues related to employees belongmg to multlple nattanahtles § ’
MNCs employ expatriates to encourage dlverSIty - : ; ' »
PCN are employees whose nationalities are d|fferent from headquarters or the sub5|d|ary offlce
Head Hunting is a source ofinternational staffing 1 :
Expatriate is an employee working and living in a.country of which he is anon cntlzen o
Adoption of culture is'relatively feasible in International HRM
Social institutions of different countries do not affect global cultural values
10. Networking Skills'is a quality required by global manaéers todail ‘

RN U AW

2 a. Elaborate on the Polycentric Approach of staffmg stating'its advantages and dlsadvantages?a‘ (7»);”
b. What are the challenges faced by HR managers of Global flrms? > , s (8)
« R OR . : o ~
a. W_hat is the difference between Domestic and International HRM ¢ N — (7)
b. »Wfite ashort-note on Cross Culture Management?: K e ) (8)
Q3. a. What are-the sources of recruitment in IHRM 7 3y (7)
b What are the Approaches to international compensatlon » (8)
. ‘ OR :

7 Q3 A, What are the factors affecting International Performance of Expatrlates v\
B.- Explam Cross Culture Training k
Q4. A What is Expatrlate Failure : . o (7)

B. Elaborate on Process of Repatriation and-challenges faced in repatrlatlon ; (8)
OR
Q4 C. What are the chaIIenges faced by Women in international a55|gnments? (7)
D ‘What can HR mangers do to prepare an employee for an mternatlonal assignment (8)
Q5 a. Elaborate on the emergmg trends in IHRM o ‘ | (7)
T b Cltmg examples explam Virtual Organisations. What are its’ Advantages (8)
> OR

Q5. ;Write Short‘nd‘tes: (Any 3)

1, dff Shoring

-y ‘Role of famlly in expatriate assignment
""3 Issuesin Internatlonal HRM

4, Culture Shock

5. Ways of Managmg Diverse Teams
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Paper / Subject Code: 86007 / Elective : Human Resource : Organisational Development

Duration : 2 ¥ Hrs. Total Marks : 75

Note : All Questions are compulsory subject to-Internal choice
Each question carries equal marks.

Q1 A) Choose and Write correct answer from the options given below: (Any 8)  (8)

1. OD interventions reduce unnecessary
(Conflict/Competition /Work /Collaboration)

2. In expert power the power holder has :
(Expert Knowledge/Teams/Influence/Legal rights)

3. OD programs increase the of employees.
(Motivation/Salaries /Tenure /Perks) {

4. Process consultation is a technique of OD intervention.
(Traditional/ Outdated/ Modern/Discontinued)

5. Sensitivity Training is also known as training.
(Laboratory/On the Job /New /Theoretical)

6. In OD Good Ieadershlp results in more-
(Profits/turnover: of employees/commltted staff /payments from suppliers)

7. The process of power is connected with
(Profit/Greed /Polltlcs/lnformatlon)

8. is the last phase in organizational diagnosis.
(Analysis/Feedback/Entry/Study Design)

9. ~_Strategyis also known as entrepreneur strategy.
(Reposition /Marketing/ Retrenchment/RepIacement)

10.The process of OD is based on the action model.
(Research/ Reactlon/AnaIysns/ResuIts) 4

Q1 B) State Whether followmg statement is true orfalse: (Any 7) (7)

Business Process Reengineering is not a subjective process.

Timing Tactics analyses both the decisions and the actions taken.
Organizational development is critical to product innovation.

Unobtrusive data are collected directly from respondents .

Deception is any form of unethical and will destroy trust.

Longitudinal evaluations in OD are often challenging to conduct.

The consultant acts as an advisor, who presents the suggestions and perspectives
as a solution to the problem. \

8. The Arbitrator:is the most powerful type of intermediary.

9. The infant stage is the stage of decline.

10.The OD manager plans, develops, implements and administers HR programs for
company employees

NO oA wN

51244 = 5 1

X1 1ﬁ\Y5D473CX1 14Y5D473CX114Y5D473CX114Y5D473C



Paper / Subject Code: 86007 / Elective : Human Resource : Organisational Development

Q2 A) Discuss the objectives of Organizational Development. - (8)

B) Explain the Participation of top management in Organizational Development. (7)

OR
C) Explain the relevance of Organizational Development for managers. (8)
D) Discuss Organizational'Developm'ent in Global Setting. : ' (7)
Q3 A) What is Organizational diagnosis? Explain its need. (8)
B) Define OrgaﬁniiZétional renewal.What are the techniques of Organizational renewal?
@)
OR
C) What do you mean by Buéiness Process Re-engineering? Explain its Features. (8)
* D) Explain the role of change agents. ( (7)
Q4 A) Explain the dif_fefeht types of Organizatibnal Development interventions. (8)
B) Briéﬂy the trad’i‘ti'onal techhiques of Organizational Development intervention. (7)
: » N : OR
C) Explain the features of organization development intervention. : (8)
D).Explain the methods of Evaluation gﬂérganizati’ohal Development
Intervention.’ / 5 N N d (7)
QS A) Elaboréte on Value Conflict and Dilemma. ’ (8)
B) What are the Wéys to enhénce organ“i‘zational effectiveness? . (7)
; > OR
Q5 C] Write short notes on. (Any Three) . (15)

1. Organizational life Cycle.

2. OD-HRD interface
3. Ethical guideline for OD Professionals.
4. ValuesinOD. . a
5. Transactional Analysis. -
51244 S " 2
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Paper / Subject Code: 86010 / Human Resource : HRM in Service Sector Managernent

TIME: - 2 %5 hours ' ; MARKS: -75

NOTE: -All Questions are compulsory.
Figures to the right indicate full marks.

Q.1 (a) Fill in the Blanks: (Any Eight) \ 8)
1. is also self-developed through formal written documents and
communication. (Resource, Product, Service, Commodity)
2. is an.example of business- to—busmess service. (Ad agency, Amazon,
Flipkart, Myntra) e
3. Service organization is‘a voluntary where members meet regularly to perform

charitable works. (Commerc1a1 organization, non-profit organization, sick unit,
profitable organization)

4. - systemis designed and managed for the perfection in delivery of core
services. (Manufacturing, Packaging, Delivery, Labelling)

5. evaluation is the systematic process of determining the success of the HRP

'/ process. (HRIS, HR, HRP, HRM)

6. - has become a regular feature both in the pubhc sector as well as in the
private sector of organizations (Exporting, Importing, Franchising, Outsourcing)

7. One challenge that HR professionals are currently facing revolves around the
staffing of nurses and doctors. (Banking, Healthcare, Railways, Defense)

8, In service gap model.gap 1 is . (Management perception, Customer
expectation, Service quality specification, Service delivery)

9. Interactive marketing of service triangle means (Dehvermg the promlse

Enabling the prornlse Settmg the promise, Disable the promise)

10. Develop a of the company such that employees have pride in working for the
firm. (Pubhc 1mage Role playing, Situational vignette, bad 1mage)

QI. (b) True or False: (Any seven) < N @)
1. The structure and order of the organization does not limit innovation and growth
2. Employees and managers readily offer their assistance to each other to meet
corporate objectives:
In many service industries the search for productivity is a not 1mp0rtant
Teachers’ salaries are paid alongside other civil servants
Agents and brokers do not work on commission basis
, ~Conflicts between customers are uncommon
Human resources professronals or consultants can train new workers:
Tang1b111ty is the prlmary characteristic that distinguishes services from goods
The DINK culture is getting stronger and spreading wider day by day
10 Empathy is the key quahty parameter in services

© PR s W

Q2 Attempt any two from the following.

(a) Explain the role of service employees” 8
(b) What are the reasons for growth and development in the service sector? @)
‘ ; OR

33158 e . Page 1 of 2
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Paper / Subject Code: 86010 / Human Resource : HRM in Service Sector Management

(c) Explain in detail the six-market model, w1th suitable examples = "(8)

(d) Explain the concept of employee empowerment ‘how does it help to prov1de better >

services to customers? % , : (7)

Q.3 Attempt any two from the followmg
(a) What is the meaning of Globalization; how globallzanon will enhance the growth and

development in the service 1ndustry‘7 3 ®)
(b) Reasons and strategies adopted to fill the gaps in the service gap model. Explam‘? )
OR :
(¢) Discuss advantages and challenges of delivering services through agents and brokers? (8)
(d) Explain in deta1l the process of HRP evaluation? (M
Q.4 Attempt any two from the followmg :
(a) Explain in detail the concept of moment of truth with examples? ‘ t))
(b) As per your opmlon what varlous quahty 1ssues are in-services : @)
: ~OR &
(¢ leference between cycle of failure, medlocrlty and success‘7 N 0 (8)
(d) Explam the concept of Serv1ce leadershlp, Wlth examples" » @)
Q.5 Write Short Notes on: (Any three) N > OV N (15)
L. Employee retentlon 1n service sector
2. Servicescape
3. Interviewing techniques
4. Customer satisfaction drives customer loyalty
5.

Front 11ne employees

5 ok o oo o ok s ok o
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Ethos in Managefﬁent

[Time: 2.30 Hours] . ‘ © [Marks: 75]

N.B.: Please check whether y’éu have right question paper
1. All questions are compulsory ‘
2. Answers to sub-questions must be written together

Q.1. A. Fill in the blank choosing correct option (ANY EIGHT) (8 Marks)
1. According to i life does. not just happen, it requires individual’s
participation. : : T ok

a) law of creation. ’ 0 b) law of responsibility

c) The law of cause and effect d)law of growth

2. According te : ., one should take responsibility of his or her own life.
a) law of creation - ~b) law of responsibility

¢) The law of cause and effect d) law.of growth

3. karma is for a-body of persons united for a specific purpose.
a) Prarabhdha Karma b) Nishkaam Karma c) Corporate Karma d) Sanchit Karma.

4. Ego sublimation means -

a). We feeling rather than 1 'b) Fighting Spirit
. - ©) Individual Achievement .~ d) Ego Defensive Mechanism -
5. According to Kautilya Arthashastra, o) ) is the visionary leader.
a) King . b) Manager ~ ¢) Customer ~d) Soldier

6. Employees and-all stakeholders are treated like a family, by the
in a family managed business. : }
a)Karta .. s ..'b) Transformational Leader
“¢) Transactional leader. d) Coparceners
7. A leader who revises goals; redefines objectives and provides strategies is called

a) Treum"sformatio,vnal Leader b) Professional leader

c) Transactional leader . ~d) Charismatic leader
8. oy 43 i§ usually known as insight meditation which means
to see things as they really are. R e '
* a) Vipassana Meditation : b) Mantra Meditation
c) Raja Yoga Meditation d) Trataka Meditation
9. (> 3 helps an individual in improving coricentration power.
a) Vipassana Meditation ‘b) Mantra Meditation
~¢) Raja Yoga Meditation d) Trataka Meditation .
10. The act of Shishya of memorizing the shloka, recollecting and reproducing the same
is called o : o .
a) Smriti .»7" b) Shruti c)Stotra  *d) Smriti and Shruti

Q:1. B. State whether the following statement is True or False (ANY SEVEN) (7)

1. According to law of responsibility, whenever there is something wrong in an individual’s
o life, it is'because there'is something wrong in themselves.

2. Indian Ethos deals with two types of knowledge, knowledge of creation and knowledge

of creator. .

3. Discipline, punctuality and dignity of work are basic level work ethos.

4. Values are imbibed in an individual since childhood and differ from person to person.
~5. Physical'stress can-be due to long term stress.

6. Distress is type® of positive stress which improve enthusiasm, creativity and

productivity among employees.
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Ethos in Management

7. Burnout is a negative stress which is experienced by people who suffer for a long
duration of time. : .

8. Experience is said to be the best teacher, as it has the real touch in it.

9. Transformational leaders have the ability to bring changes in the mind set of people
in the organization. \ > G . -

10. Prescribed syllabus is a feature of Gurukul System of Education.

Q.2 a) Explain various'e;lements of Indian Ethos practiced by Indian Organization. (08)
(07

Q.2 b) Describe in detail role of Indian Ethos in managerial practice.

Q. 2 ¢) Describe requisites of Indian Ethos. : : (08)

Q.2d) Describe Iﬁanagement lessons from Mahabharat. ‘ 07)

Q.3a) Discuss factors responsible for poor work ethos. (08)

Q.3b) Compare Secular and Spiritual Values in context of management of

organization. ; ™ : (07)

Q.3c) Which values are.important for Indian Managers? (08)

Q.3d) Describe basic as well as top:level work ethos. (07)

Q. 42a) 'Déscribe advantages and limitations of transformational leadership. k (08)

Q. 4b) Explain cheiracterisgi@s of charismatic leadership. b ‘ (07)

JOR -

Q.4 ¢) Describe stress management; techniques at organizational level, .-.(08)
~+Q. 4 d) Enumerate various characteristics of visionary leadership. b, (07

Q.5 a);D‘escribe modern systerh of learning, - (08)

Q. 5b) Explain various laws of Karma. , 07)

. L £ OR

Q.5 Write'Short Notes on (Attempt any 3 out of 5) (15)

1. Gurukul System of Learning ¢

ii. Joint Hindu Family Business

iii. Concept of Yog along with its benefits

iv. Leadership qualities of Karta

v..Physical benefits of meditation

******$¥******,~7
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